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® A={a,b,a,b} & o n(A) =4

@ n ({z | = 3015+2] AA%Y) = {3}
® n({a,b,c,d}) —n({a,b,d}) =0

@ n({z | z= 10 ZAHA}) =1

® n({2,3}) —n({1,3}) =2



2. AAHLU ={1,4,6,8,9} | FEHG A, Bl tsted A-B = {1,6},B-A=
{8}, A4°nB° = {4} & ™, A B° 27

@ {1,2} @ {1,4} ® {1,6} @ {1,4,6} ® {1,6,8}
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4. AARF U F TR A, Bl thste] n (U) = 40, n (B - A) =12, n(4) =
15,n(ANB) =6 € ®, n((AUB)) &7

D 10 @ 11 ® 12 @ 13 ® 14



A A, Bl Hist] Ax B = {(z, y)|lzr € A, y € B} 2L
{ , 2,3, B={2,3,4}, C={1, 4} € 9, n((Ax B)N
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® 2274 ® 237 @ 2473 ® 2574
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A%} 4w, AnB

{z|z= 7}, B = {afze
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9. A
U

FA={z|zz 10008945} B = {1, 2,3 4,56 7 8 4,
n(A =

) 9
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@ 571 @ 671 @ 77 @ 87 ® 974
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